Best model for HELP J143239.632+345724.500 at z = 0.73 x°=4.85
OPTx?=6.03 IRx?=1.34 threshold (OPT IR)=13.84 [um]

2
10 . Stellar attenuated
i e Stellar unattenuated
1 —— Dust emission
1]
10 —— AGN emission
] = Model spectrum
0_‘ ® Model fluxes
10 3 M oObserved fluxes
= 10-1 J
> 1071
e ]
>< _2 _:I“
= 10
T ]
10—3 4
10—4 4
§0—5 4
—
= ==f=(Obs-Mod)/Obs
>
S
n
o Of+==pFA=-fqdq==N|—cffF—m———mmm e ==
o ]
) ]
2 ]
S ]
o -1
()
(o'

Observed wavelength [um]

T T T T T T T T T T T T T T T T cM
10° 10! 102 103 104 @



